Math 172 Quiz 10.1 Name:

Sections: 10.1-10.2 - Point values in[boxes I
22 October 2018

1. @ Please circle True or False, as appropriate.

(a) @/ F: If a, — 0 as n — o0, the sequence {a,} converges.

(b) @/ F: If ap, — 7 as n — oo, the sequence {a,} converges.

(¢ T/ @If an — 00 as n — oo, the sequence {a,} converges.

(d T /@The Fibonacci sequence {1,1,2,3,5,8,13,...} converges.
(e)% F: The Fibonacci sequence {1,1,2,3,5,8,13,...} is monotone.
(f)

(g T /@If r = 1.3, the geometric sequence {0.1r"} converges.

(hy T /@The sequence {—1,1,-1,1,—1,1,...} converges.

() (T J F: The sequence {—1,1,—1,1,~1,1,...} is bounded.

@ F:If a, = f(n) for n € N and hm f(z) = L, then hm an = L.

(kO F: If 0 < an < bp and b, — 0 as n — co, then the sequence {a,} converges.
O T a‘ bounded sequence converges.

(m) T /A monotone sequence converges.

(n)@ F: A bounded monotone sequence converges.

(o) T/1+—1—)n-—>1asn—>oo.

F: If r = —0.3, the geometric sequence {—77"} converges.
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(p) T /@I‘he 3rd partial sum of Z —isS3=1+= + -
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(q)@/ F: If the sequence Sy = Z an converges to 7, then S Z ap COnverges.
n=0 n=0

n
(r) T /@For Fy > 0, the sequence {Pg (-g—) } converges, i.e. the sequence of perimeters of

the approximations of the von Koch Snowflake converges.

VI

Perimeter = P, Perimeter = P,(4/3) Perimeter = P0(4/3)2 Perimeter = ?

2. Determine the limit of the sequence or state that the sequence diverges.
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